## WEST BENGAL MEDICAL SERVICES CORPORATION LTD (Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

#### Name of work:

## External door fixing at L T Panel room in Ground Floor of Debra SSH

# NOTICE INVITING TENDER

Dated -29 /05/2021

#### Memo No: WBMSCL/NIT- 160/2021

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29,

Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of

similar nature of work for the work External door fixing at L T Panel room in Ground

#### Floor of Debra SSH.

The details may be available at Notice Board of WBMSCL & website <u>www.wbmsc.gov.in</u> and to be submitted (offline) on or before 1:00 P.M. on 04/06/2021 at Site Office of WBMSCL at Debra SSH.

| No of Site                          | 1 no.  |
|-------------------------------------|--|
| Estimated Amount                    | 41,214.00  |
| Bid Security/EMD                    | The bidder will have to deposit earnest money Rs.<br>825.00 (In the form of DD from a scheduled bank<br>drawn in favour of "West Bengal Medical Services<br>Corporation Ltd"). |
| Security Deposit                    | 10% of the contract amount to be deducted from the Bill for each work.   |
| Releasing of Security Deposit       | One year from the date of completion of work   |
| Tender Publication Date             | 29/05/2021   |
| Last date of Submission of Tender   | 04/06/2021 Upto 1:00 PM  |
| Date of Opening of Tender Document  | 04/06/2021 at 1:30 PM  |
| Validity of Quotation               | 120 days from the date of opening of the financial bid of the tender.  |
| Time allowed for completion of Work | 5 days from the date of Work order for both the work   |

| Eligibility of participating bidder | Bonafied reliable and resourceful firm having<br>executed similar nature of Work.<br>Intending tenderers should produce credentials of<br>a similar nature of completed work of the<br>minimum value of 40% of the estimated amount<br>put to tender. |
|-------------------------------------|---|
| Bid opening Venue                   | West Bengal Medical Services Corporation Ltd,<br>Swasthya Sathi, GN -29 , Sector – V, Salt Lake,<br>Kolkata – 700091.   |

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

**Documents comprising the bid :** (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

## The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2020-21.
- d. Experience in similar field
- E. Duly signed NIT
- F. Trade License

### The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfill the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

| T refer | ence no WBMSCL/NIT- 160/2021 Dated –29 /05/  | 2021 |          |          |          |         |
|---------|--|------|----------|----------|----------|---------|
|         | B.C  |      |          |          |          |         |
| Sl.No.  | Description of Item  | Unit | Quantity | Rate     | Amount   | Remarks |
| 1       | Dismantling all types of masonry excepting cement concrete<br>plain or reinforced, stacking serviceable materials at site<br>and removing rubbish as directed within a lead of 75 m.   |      |          |          |          |         |
|         | a) In ground floor including roof.   | Cum  | 2.50     | 505.65   | 1264.12  |         |
| 2       | Plaster (to wall, floor, ceiling etc.) with sand and cement<br>mortar including rounding off or chamfering corners as<br>directed and raking out joints including throating, nosing<br>and drip course, scaffolding/staging where necessary<br>(Ground floor). [Excluding cost of chipping over concrete<br>surface]   |      |          |          |          |         |
|         | With 1:4 cement mortar : - 20 mm thick plaster   | Sq.M | 12.05    | 191.17   | 2303.60  |         |
| 3       | Supplying solid flush type doors of commercial quality, the timber frame consisting of top and bottom rails and side styles of well seasoned timber 65mm wide each and the entire frame fitted with 37.5mm wide battens places both ways in order to make the door of solid core and internal lipping with Garjan or similar wood veneers using phenol formaldehyde as glue etc. complete, including fitting, fixing shutters in position but excluding the cost of hinges and other fittings in ground floor. |      |          |          |          |         |
|         | (b) 32 mm thick shutters (single leaf)   |      |          |          |          |         |
|         | Ground Floor   | Sqm. | 2.00     | 2668.50  | 5337.00  |         |
| 4       | Wood work in door and window frame fitted and fixed in<br>position complete including a protective coat of painting at<br>the contact surface of the frame exluding cost of concrete,<br>Iron Butt Hinges and M.S clamps. (The quantum should be<br>correted upto three decimals)  |      |          |          |          |         |
|         | (d) Sal : Local.   | Cu.M | 0.05     | 82525.56 | 4126.28  |         |
| 5       | Collapsible gate with 40mm x 40mm x 6mm Tee as top and<br>bottom guide rail, 20mm x 10mm x 2mm vertical channels<br>100mm apart in fully stretched position 20mm x 5mm M.S.<br>flats as collapsible bracings properly rivetted and washered<br>including 38mm steel rollers including locking<br>arrangements, fitted and fixed in position with lugs set in<br>cement concrete and including cutting necessary holes,<br>chasing etc. in walls, floors etc. and making good damages                           |      |          |          |          |         |
|         | In ground floor.   | Sqm. | 3.75     | 4898.10  | 18367.88 |         |
|         | Door Fittings  |      |          |          |          |         |
| 6       | Anodised aluminium butt hinges of approved quality<br>manufactured from extruded section conforming to I.S.<br>specification (I.S. 205/66) and fitted and fixed with cadmium<br>plated screws:   |      |          |          |          |         |
|         | (vii) 100mm x 75mm x 4.0mm.  | Each | 3.00     | 105.20   | 315.60   |         |
| 7       | Anodised aluminium Aldrop / Sliding bolts of approved<br>quality manufactured from extruded section conforming to<br>I.S. specification (I.S. 2681/66) fitted and fixed complete.  |      |          |          |          |         |
|         | (iii) 300mm x 16mm dia. bolt.  | Each | 1.00     | 261.31   | 261.31   |         |
| 8       | Anodised aluminium barrel / tower / socket bolt (full<br>covered) of approved manufactured from extruded section<br>conforming to I.S. 204/74 fitted and fixed with cadmium<br>plated screws:  |      |          |          |          |         |
|         | 200mm long x 10mm dia. Bolt  | Each | 1.00     | 88.23    | 88.23    |         |
|         |  |      |          |          |          |         |

| SI.No. | Description of Item   | Unit | Quantity | Rate     | Amount    | Remarks |
|--------|---|------|----------|----------|-----------|---------|
| 10     | Anodised aliminium D-type handle of approved quality<br>manufactured from extruded section conforming to I.S.<br>specification (I.S. 230/72) fitted and fixed complete:<br>With continuous plate base (Hexagonal / Round rod)   | -    |          |          |           |         |
|        | 150 mm grip x 10 mm dia rod.c   | Each | 2.00     | 109.73   | 219.46    |         |
| 11     | Door Stopper ( Brass )  | Each | 1.00     | 132.35   | 132.35    |         |
|        | (a)Priming one coat on steel or other metal surface with<br>synthetic oil bound primer of approved quality including<br>smoothening surfaces by sand papering etc.  | sqm. | 15.00    | 32.80    | 492.00    |         |
| 12     | (b) Priming one coat on timber or plastered surface with<br>synthetic oil<br>bound primer of approved quality including smoothening<br>surfaces by sand papering etc.   | Sqm. | 11.00    | 42.98    | 472.78    |         |
|        | Painting with best quality synthetic enamel paint of<br>approved make and brand including smoothening surface<br>by sand papering etc. including using of approved putty etc.<br>on the surface, if necessary   |      |          |          |           |         |
| 10     | (a) On timber or plastered surface :  |      |          |          |           |         |
| 13     | With super gloss (hi-gloss)   |      |          |          |           |         |
|        | (iv) Two coats (with any shade except white)  | Sqm. | 11.00    | 91.63    | 1007.93   |         |
|        | <ul> <li>b) On steel or other metal surface : With super gloss (hi-<br/>gloss) -</li> <li>iv) Two coats (with any shade except white)</li> </ul>  | sqm. | 15.00    | 89.36    | 1340.40   |         |
| 14     | Supplying 1.5mm thick M.S. sheet fitted and fixed on one or<br>both faces of M.S./ W.I. gate etc. with point welding at not<br>more than 150mm apart complete in all respect as per<br>design including cost of all labour and materials.   | sqm. | 1.50     | 894.78   | 1342.17   |         |
| 15     | M.S. structural works with hollow sections (square or rectangular shape) conforming to IS: 806-1968 & IS:1161-1998) connected to one another with bracket, gusset, cleat as per design, drawing & direction of Engineer-in-Charge complete including cutting to requisite shape & size, fabrication including metal arc welding conforming to IS: 816-1969 & IS: 9595 using electrodes of approved make and brand conforming to IS:814- 2004, haulage, hoisting and erection all complete.<br>The rate includes the cost of all M.S. Hollow section, all consumables such as electrodes, gas and hire charges of all tools and plants and labour reqired for execution and all incidental chages (such as electricity, labour insurance) etc. complete. | МТ   | 0.20     | 11293.90 | 2258.78   |         |
|        |   |      |          | Total    | 41,213.00 |         |
|        | Quoted Perc   |      |          |          |           |         |
|        | Quoted P  |      |          |          |           |         |
|        | Quoted Per  |      |          |          |           |         |
|        | Quoted Pe   |      |          |          |           |         |

Sd/-Managing Director & Commissioner, H & F W Department